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= X 4 S | Tiwmho0ESE ADKES X 4 TIwALDKE | B ADKES X 4 Bz | LEArSOES ADKES R 4 Timmrootks | g ADKES
(m) (m) (kN/m) EE Bf (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/mM#%#8Z % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — - ~ — —|3mZE#BZ 3 -~ — — -
ZzhnLst 1.00 1000 ~ 405 50.67 | =hs | 000 ~ 105|206 11.04 ZzhnLst 1.00 | 5.00 ~ 5.00 50.67 | =nLS | 5,00 ~ 5.00)| 206 11.04
2 100kN/mM#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — - ~ — —|3mZEHBZ B -~ — — -
ZzhnLst 1.00 | 0.00 ~ 533 66.42 | TN | 000 ~ 533|200 10.70 ZzhnLst 1.00 |1 5.00 ~ 6.60 66.42 | =nLS | 5,00 ~ 6.60 | 2.00 10.70
3 100kN/mM#%# 25| 1.00| 000 ~ 119 117.93 |3mZ&#BRE| — ~ — — — | 100kN/mi%#8%2% | 1.00 | 1058 ~ 14.24 117.93 |3m%x#EZ5 -~ — — —
ZzhnLst 100|119 ~ 897 100.00 | Tns | 000 ~ 897|224 11.99 ZzhnLst 1.00 | 5.00 ~ 1058 100.00 | EnRSY | 5.00 ~ 1424|224 11.99
4 100kN/mM#%# 25| 1.00| 000 ~ 258 140.49 |3mZE#BZEH| — ~ — — — | 100kN/M%ZE#BZB | 1.00 | 11.25 ~ 3215 140.49 |3mZEBZD -~ — — —
Zh st 100|258 ~ 1036 100.00| FhLS | 0.00 ~ 1036 2.92 156.62 ZzhnLst 100|500 ~ 1125 100.00 | =nRSY | 5.00 ~ 3215|292 15.62
5 100kN/ Mm% 25| 1.00| 000 ~ 274 143.29 |3mZE#BAEH| — ~ — — — | 100kN/M%ZE#BZB | 1.00 | 1092 ~ 3008 14329 |3mZEBZD -~ — — —
Zh st 100|274 ~ 1053 100.00| NS | 000 ~ 1053|298 15.92 Zh st 100|500 ~ 1092 100.00| Ths | 500 ~ 3008|298 156.92
¢ 100kN/mM#%#8Z % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — - ~ — —|3mZEHBZ 3 -~ — — -
ZzhnLst 1.00 1000 ~ 365 45.98 | TnS 000 ~ 365|217 11.60 ZzhnLst 1.00 | 5.00 ~ 5.00 45.98 | =nLS | 5.00 ~ 5001217 11.60
100kN/m#E#BZ % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/m#E#BZ % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/m#E#BZ % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEHBZD ~ 100kN/m%#z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/m#%#BZ % ~ ImEHBZD ~ 100kN/m%# 2z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/m#E#BZ % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zh st ~ Th s ~ Zh st ~ Zzh sk ~
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